N

JEFMAIN 2025

‘! PAPER DISGUSSION

Shift : 01



JEE
ULTIMATE
CRASH COU

RASH COURSE
2025

LIVE - JEE MAIN 2025 PAPER DISCUSSION

Phyizel,




LIVE
sTream SEEMAIN 2025 PAPER DISCUSSION

If 10 mol CO and 10 mol of Fe50,4 reacts according to Feq0,4 + 4CO —--> 4CO, +
3Fe. What is the weight of Fe produce?
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Process is non-spontaneous at freezing point but spontaneous at boiling point, find AH
and AS.
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@ AS positive, AH negative
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@ AS negative, AH positive
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If the Ksp of Cr(OH)3is 1.6 x 10 M™. The molar solubility of salt in water is 1.56 x
10~ %, then value of x is:
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Calculate the standard cell potential in (V) of the cell in which following reaction
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In a process pressure of the gas is directly proportional to temperature then choose

correctoption. ot Coslent \/,

M Process is isochoric. L 6\03*\‘)33@&L0 W

\M ° b UO T C)C\'&\/
Work done in process is zero.

M\ternal energy increase with jhcrease in temperature. _ | Gl -\ /
@ A and B are correct =T ) Pod

A |
0 A and C are correct
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L/@/I\, B and C are correct 'S
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@ B and C are correct
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= v,
Order of nucleophilicaddition e o
1. Acetophenone, TP @

2. p-nitrobenzaldehyde =
3. benzaldehyde, @ 2%
4. p-tolualdehyde b 1 § 3
(®) bt
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4>3>2>1)



sTream JEE MAIN 2025 PAPER DISCUSSION

Ribosé resentinDNA is |
P Fa\caﬂ( = &% man‘)dl )!*a-a

(A) Itis a pentose sugar
(E) Presenkin pyranose form

§g)()(anomeric carbon is present V(D)P/resent inD

configuration

Itis reducing sugar in free form
se the correct statements:

A,CandEonly

A,DandEonly

A,B,C,DandE
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A and Eonly
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Which compound react fastest with HBr.
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In Duma which gas is evolved?
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(1) Hg?* [ H,SO,

CH; ~ CH{ - C = = > A’
lH*oD . ON C&
(3) Hy/Ni i A LN Eey ||
. . CH—C,— C=CH, - > CHTCH— C—CH,
Find major product ‘A’ |
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@ CH3 = CH, - (|:H = CH, @ CH; = CH, CH, NH,
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Stability of carbocation is Maximumin ?
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Which of the following give nucleophile substitution react fastest?
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OH"
Statement- 1 N\ \ohtr———p NN
? RX Cl (@ polar solvent OH
R

/\X .
Statement - | e ke

- +
Cl Polarsolvent N~ R3*Cl

SNZT:,\/

@ Statement- |l is false, statement -l is true

Statement- lis true, statement ~ll is true, statement - 2 is the correct explanation

of statement - |
Statement- |l is true, statement -l is false

@ Statement- lis true, statement -ll is true, statement - 2 is not the correct

mersnlcscncadiase ol oaboabassencasnd 9
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|\ This compound is aldol condensation product of
which of the following alkene after ozonolysis?
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